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Allegretto

TWO MELODIES WILL EACH BE PLAYED TWICE.

Write down the melodies in the space provided.
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Add the Alto, Tenor, and Bass part to the following SATB chorale. 

The whole chorale will be played once through; then each section marked by brackets above the stave

will be played twice; finally the whole chorale will be played through once more.
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CAMBRIDGE ORGAN SCHOLARSHIPS EXAMINATION

SPECIMEN AURAL TESTS
These will be played LIVE, on a piano. The smaller notes/staves on the example here

will NOT be provided on the candidates' question sheets.
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The following extract contains mistakes of both RHYTHM and PITCH. It will be played three times. 

Write the corrections in the space provided (you should not write out the entire extract).

There are no mistakes in the pick-up bar or the first complete bar.
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